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Q=2158570000
P = 510510n + 215857

2P + 1 = 2(510510n + 215857) 4+ 1 = 10210201 + 431714 + 1 = 10210200 + 431715
0000010210200 20 2003,5,7,11,13,17000000 10000000

431715 =3 x5 x 17 x 1693 x 1

oooo
2P + 1 = 255(4004n + 1693)

obobobgoo2s0booooooobooboboooooooobobobobooooooo
good

Q=215861 0000
P =510510n + 215861

2P 4+ 1 =2(510510n + 215861) + 1 = 1021020n + 431722 + 1 = 1021020n + 431723

0000010210200 20 2003,5,7,11,13,17000000 1000000

431723 =29 x 14887 x 1
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2P 4+ 1 =510510m + 431723
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Q=1215830000
P = 510510n + 215863

2P + 1 = 2(510510n + 215863) 4+ 1 = 10210201 4 431726 + 1 = 10210200 + 431727
0000010210200 20 2003,5,7,11,13,17000000 10000000

431727 = 3 x 143909 x 1

oooo
2P + 1 = 3(340340n + 143909)

gooooooOo3oobooooooobo0ooU0bOoUbDOoUobOoUobDbOUDbDOoUobDboUODoO
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Q=2158670000
P = 510510n + 215867

2P + 1 = 2(510510n + 215867) + 1 = 10210201 + 431734 + 1 = 10210200 + 431735
0000010210200 20 2003,5,7,11,13,17000000 10000000

431735 =5 x 79 x 1093 x 1

oooo
2P + 1 = 5(204204n + 86347)

o0obOoboOoos0b0b0bO0ob0U0o0b0obOOobOUobObO0ObUOobOOobDOobO0OOobUobDOobDOoo
goo

Q=215869 0000
P = 510510n + 215869

2P + 1 =2(510510n + 215869) + 1 = 1021020n + 431738 + 1 = 1021020n + 431739

0000010210200 20 2003,5,7,11,13,17000000 10000000

431739 =3 x 3 xTx7Tx11 x 8 x 1

oooo
2P + 1 = 231(4420n + 1869)

gooooooo23i0goofdoo0oo0oooboooogoboOobo0oooooDoUoDoo
good
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Q=2158790000
P = 510510n + 215879

2P + 1 = 2(510510n + 215879) 4+ 1 = 10210201 + 431758 + 1 = 10210201 + 431759
0000010210200 20 2003,5,7,11,13,17000000 1000000

431759 = 431759 x 1

o000 102102000000000000000

2P 4+ 1 =510510m + 431759
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Q=215881 0000
P = 510510n + 215881

2P 4+ 1 =2(510510n + 215881) + 1 = 1021020n + 431762 + 1 = 10210201 + 431763

0000010210200 20 2003,5,7,11,13,17000000 10000000

431763 = 3 x 43 x 3347 x 1

oooo
2P + 1 = 3(340340n + 143921)

gooooooboo3sooooooooobooooOobooboobOoobbOODbDoOobboUODboO
goo

Q=2158930000
P = 510510n + 215893

2P + 1 =2(510510n + 215893) + 1 = 10210201 + 431786 + 1 = 1021020n + 431787

0000010210200 20 2003,5,7,11,13,17000000 10000000

431787 = 3 x 163 x 883 x 1

oooOo
2P + 1 = 3(340340n + 143929)

gbooboobooo3obobooooooboboooobobobooboDobooobOobDOoooo
goo

Q=215899 0000
P = 510510 + 215899

2P 4+ 1 =2(510510n + 215899) + 1 = 1021020n + 431798 + 1 = 1021020n + 431799
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0000010210200 20 2003,5,7,11,13,17000000 10000000

431799 = 3 x 31 x 4643 x 1

good
2P + 1 = 3(340340n + 143933)
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Q=2159030000
P = 510510n + 215903

2P + 1 = 2(510510n + 215903) 4+ 1 = 10210201 4 431806 + 1 = 10210201 + 431807
0000010210200 20 2003,5,7,11,13,17000000 1000000

431807 = 431807 x 1

o000 102102000 000000000000

2P 4+ 1 = 510510m + 431807
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Q=215909 0000
P = 510510n + 215909

2P 4+ 1 =2(510510n + 215909) + 1 = 1021020n + 431818 + 1 = 1021020n + 431819
oo0o000gl10210200 20 2003,5,7,11,13,17000000 1000000
431819 =61 x 7079 x 1
Ooooo0 10210200 000000000000
2P +1 = 510510m + 431819

ooboobooobooboboobboobboobooobooo

Q=2159110000
P = 510510n + 215911

2P + 1 =2(510510n + 215911) + 1 = 1021020n + 431822 + 1 = 1021020n + 431823

0000010210200 20 2003,5,7,11,13,17000000 10000000

431823 = 3 x 7 x 20563 x 1

oooo
2P + 1 = 21(48620n + 20563)
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Q=215921 0000
P = 510510n + 215921

2P + 1 = 2(510510n + 215921) 4 1 = 10210201 + 431842 + 1 = 10210201 + 431843
0000010210200 20 2003,5,7,11,13,17000000 1000000

431843 = 277 x 1559 x 1

o000 10210200 0000000000000

2P +1 = 510510m + 431843
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Q=2159230000
P = 510510n + 215923

2P + 1 =2(510510n + 215923) + 1 = 10210201 + 431846 + 1 = 1021020n + 431847

0000010210200 20 2003,5,7,11,13,17000000 10000000

431847 =3 x 3 x 13 x 3691 x 1

good
2P + 1 =39(26180n + 11073)

gooooooboOo3ooooooob0oboooUoboUooobDOobDUooDUOobDOobobooOooo
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Q=215927 0000
P = 510510n + 215927

2P 4+ 1 =2(510510n + 215927) + 1 = 1021020n + 431854 + 1 = 10210201 + 431855

0000010210200 20 2003,5,7,11,13,17000000 10000000

431855 =5 x 86371 x 1

oooo
2P + 1 = 5(204204n + 86371)

O00b0o0O00sS000000000000DO0ODOO0ODODOODODOODODODOOODODODOD
goo

Q=2159330000
P = 510510n + 215933

2P 4+ 1 =2(510510n + 215933) + 1 = 10210201 + 431866 + 1 = 1021020n + 431867
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431867 = 431867 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 431867

goboobooobooboboobboobbooboooboon

Q=215939 0000
P = 510510n + 215939

2P + 1 = 2(510510n + 215939) + 1 = 10210201 + 431878 + 1 = 10210201 + 431879
0000010210200 20 2003,5,7,11,13,17000000 10000000

431879 =7 x 103 x 599 x 1

oooOo
2P + 1 = 7(145860n + 61697)
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Q=215947 0000
P = 510510n + 215947

2P + 1 = 2(510510n + 215947) 4+ 1 = 10210201 + 431894 + 1 = 10210200 + 431895
0000010210200 20 2003,5,7,11,13,17000000 10000000

431895 =3 x 5 x 28793 x 1

oooo
2P + 1 = 15(68068n + 28793)

ooooooboOobooboooooboboooooooooDoobDOooDOobDOoboobOooboo
good

Q=2159530000
P = 510510n + 215953

2P + 1 =2(510510n + 215953) + 1 = 10210201 + 431906 + 1 = 1021020n + 431907

0000010210200 20 2003,5,7,11,13,17000000 10000000

431907 =3 x 7x 131 x 157 x 1

oooo
2P + 1 = 21(48620n + 20567)
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Q=215959 0000
P = 510510n + 215959

2P 4+ 1 =2(510510n + 215959) + 1 = 1021020n + 431918 + 1 = 1021020n + 431919

0000010210200 20 2003,5,7,11,13,17000000 10000000

431919 =3 x 3 x3 x17x941 x 1

oooo
2P + 1 = 51(20020n + 8469)
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Q=2159770000
P = 510510n + 215977

2P 4+ 1 =2(510510n + 215977) + 1 = 1021020n + 431954 + 1 = 10210201 + 431955

0000010210200 20 2003,5,7,11,13,17000000 10000000

431955 =3 x3 x5 x29x331 x1

oooo
2P + 1 = 15(68068n + 28797)

goodoOooOoboobooOooobOobooooUooUooOoDOobDOoOoDOobDOoboooboooboo
good

Q=215981 0000
P =510510n + 215981

2P + 1 = 2(510510n + 215981) + 1 = 10210201 + 431962 + 1 = 10210201 + 431963
0000010210200 20 2003,5,7,11,13,17000000 10000000

431963 = 7 x 23 x 2683 x 1

oooo
2P + 1 = 7(145860n + 61709)

o0o0ooooOovyooooO0oOoO0oOoO0oOoO0DOoO0oOo0oDOOo0oOoOODOoOoDOoOoDOod
goo

Q=2159830000
P = 5105100 + 215983
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2P + 1 =2(510510n + 215983) + 1 = 1021020n + 431966 + 1 = 1021020n + 431967

0000010210200 20 2003,5,7,11,13,17000000 10000000

431967 =3 x 109 x 1321 x 1

oooo
2P + 1 = 3(340340n + 143989)
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Q=215987 0000
P = 510510n + 215987

2P + 1 = 2(510510n + 215987) + 1 = 10210201 + 431974 + 1 = 10210201 + 431975
0000010210200 20 2003,5,7,11,13,17000000 10000000

431975 =5 x 5 x 37 x 467 x 1

oooo
2P + 1 = 5(204204n + 86395)

o00ob0obOO0o0os000b0000000bO0ODOO0DO0OO0bO0ODbOODOO0ODbODOO0OODbDODODOn
goo

Q=1215989 0000
P = 510510n + 215989

2P + 1 = 2(510510n + 215989) + 1 = 10210201 + 431978 + 1 = 10210201 + 431979
0000010210200 20 2003,5,7,11,13,17000000 10000000

431979 = 3 x 311 x 463 x 1

oooo
2P + 1 = 3(340340n + 143993)

gooooooOo3oUoboooooUooboo0OoOoU0bOoUbDOoUobDOoUbDbOUDbDOoobDbOUODoO
ooo

Q=2159930000
P = 510510n + 215993

2P + 1 =2(510510n + 215993) + 1 = 1021020n + 431986 + 1 = 1021020n + 431987

0000010210200 20 2003,5,7,11,13,17000000 10000000

431987 = 17 x 25411 x 1
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2P + 1 = 17(60060n + 25411)
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Q=1216001 0000
P =510510n + 216001

2P 4+ 1 = 2(510510n + 216001) 4+ 1 = 10210201 4 432002 + 1 = 1021020n + 432003
0000010210200 20 2003,5,7,11,13,17000000 10000000

432003 =3 x 11 x 13 x 19 x 53 x 1

oooo
2P + 1 = 429(2380n + 1007)

oooooooo4290000000ooooOob00o0ooooooobobobooooooooOobObbOoOo
oooo

Q=2160110000
P = 510510n + 216011

2P + 1 = 2(510510n + 216011) 4+ 1 = 10210201 + 432022 + 1 = 10210201 + 432023
0000010210200 20 2003,5,7,11,13,17000000 1000000
432023 = 432023 x 1
0000 10210200000000000000
2P + 1 = 510510m + 432023

gboboobogobogbooboobboobbooobuoooboon

Q=2160170000
P = 5105100 + 216017

2P 4+ 1 =2(510510n + 216017) + 1 = 1021020n + 432034 + 1 = 1021020n + 432035

0000010210200 20 2003,5,7,11,13,17000000 10000000

432035 =5 x 71 x 1217 x 1

oooo
2P + 1 = 5(204204n + 86407)

gooooooUds0OUObO0oO0bOOObOOUObOO0ODbDOU0ODOODOODOODOODOUODOO
goo
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Q=2160230000
P = 510510n + 216023

2P + 1 =2(510510n + 216023) + 1 = 10210201 + 432046 + 1 = 1021020n + 432047

0000010210200 20 2003,5,7,11,13,17000000 10000000

432047 =7 x 11 x 31 x 181 x 1

oooo
2P + 1 = 77(13260n + 5611)

goooooogoywioobooOooobOOobOoooUooUooooDobDOoobDOobDOoboooooo
goog

Q=216031 0000
P =510510n + 216031

2P 4+ 1 =2(510510n + 216031) + 1 = 1021020n + 432062 + 1 = 1021020n + 432063

0000010210200 20 2003,5,7,11,13,17000000 10000000

432063 =3 x 3 x 61 x 787 x 1

oooo
2P + 1 = 3(340340n + 144021)

g0oobOobooo30boboooooobobOooOoOobOobOobDobDobOoobOobOobDOoo
goo

Q=1216037 0000
P = 510510n + 216037

2P 4+ 1 =2(510510n + 216037) + 1 = 1021020n + 432074 + 1 = 1021020n + 432075

0000010210200 20 2003,5,7,11,13,17000000 10000000

432075 =3 xHxH X 7Tx823 x1

oooo
2P 4+ 1 =105(9724n + 4115)

gooodooOoles0dboboOdOOO00ODOO0O0ODbDOoUODOUODOODbDOOO0OOOUODOUODOO
googo

Q=12160430000
P = 510510n + 216043

2P 4+ 1 =2(510510n + 216043) + 1 = 10210201 + 432086 + 1 = 1021020n + 432087
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0000010210200 20 2003,5,7,11,13,17000000 10000000

432087 =3 x 73 x 1973 x 1

oooOo
2P + 1 = 3(340340n + 144029)

o00obOobO0o0o30b0b0oboooooboboooOobOOobOoboDobDobooobOobDOobDOoo
goo

Q=2160490000
P = 5105100 + 216049

2P + 1 = 2(510510n + 216049) + 1 = 10210201 + 432098 + 1 = 10210201 + 432099
0000010210200 20 2003,5,7,11,13,17000000 10000000

432099 =3 x3x41 x 1171 x 1

oooo
2P + 1 = 3(340340n + 144033)

gooooooOo3soUobooooooobooU0oOoU0bOoUbDOoUobDOoUobDbOUDbDOoUobDbOUODoOO
oono

Q=216059 0000
P = 510510n + 216059

2P + 1 = 2(510510n + 216059) 4+ 1 = 10210201 + 432118 + 1 = 10210201 + 432119
0000010210200 20 2003,5,7,11,13,17000000 1000000

432119 =601 x 719 x 1
Ooooo 10210200 000000000000
2P +1 = 510510m + 432119

goboobooobooboboobboobboobooobooo

Q=216061 0000
P = 510510n + 216061

2P + 1 =2(510510n + 216061) + 1 = 1021020n + 432122 + 1 = 1021020n + 432123

0000010210200 20 2003,5,7,11,13,17000000 10000000

432123 =3 x 17 x 37 x 229 x 1

oooo
2P + 1 = 51(20020n + 8473)
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Q=2160670000
P = 5105101 + 216067

2P + 1 = 2(510510n + 216067) 4+ 1 = 10210201 + 432134 + 1 = 10210200 + 432135
0000010210200 20 2003,5,7,11,13,17000000 10000000

432135 =3 x3x3x3x5Hx11x97x1

oooo
2P +1 = 165(6188n + 2619)
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good

Q=2160710000
P = 510510n + 216071

2P 4+ 1 = 2(510510n + 216071) 4+ 1 = 10210200 + 432142 + 1 = 1021020n + 432143
0000010210200 20 2003,5,7,11,13,17000000 1000000

432143 = 432143 x 1

Ooooo0 10210200 000000000000

2P 4+ 1 =510510m + 432143

gbbooggbogoboobbugobboobbooobuoonbagn

Q=2160770000
P = 510510n + 216077

2P 4+ 1 =2(510510n + 216077) + 1 = 1021020n + 432154 + 1 = 1021020n + 432155

0000010210200 20 2003,5,7,11,13,17000000 10000000

432155 =5 x 19 x 4549 x 1

oooo
2P + 1 = 5(204204n + 86431)

O00b0o0O00sS000000000000DO0ODOO0ODODOODODOODODODOOODODODOD
goo

Q=1216079 0000
P = 510510n + 216079

2P 4+ 1 =2(510510n + 216079) + 1 = 1021020n + 432158 + 1 = 10210201 + 432159
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0000010210200 20 2003,5,7,11,13,17000000 10000000

432159 =3 x 7x 13 x 1583 x 1

oooo
2P + 1 = 273(3740n + 1583)

OO00000oOo2r3000000000000DO00OO00OoO0DbOO00oOoooDoDOoooDooag
goog

Q=216089 0000
P = 5105100 + 216089

2P + 1 = 2(510510n + 216089) 4+ 1 = 10210201 + 432178 + 1 = 10210201 + 432179
0000010210200 20 2003,5,7,11,13,17000000 10000000

432179 =11 x 101 x 389 x 1

oooo
2P + 1 = 11(92820n + 39289)
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good

Q=1216091 0000
P = 510510n + 216091

2P + 1 = 2(510510n 4 216091) + 1 = 1021020n + 432182 + 1 = 1021020n + 432183
0000010210200 20 2003,5,7,11,13,17000000 10000000

432183 = 3 x 144061 x 1

oooo
2P + 1 = 3(340340n + 144061)

gooooOooOo3soooooooooboUooU0bOoUobDOoUobDOoUbbOUDbDOObDbOUDbOoO
goo

Q=2161010000
P =510510n + 216101

2P + 1 =2(510510n + 216101) + 1 = 1021020n + 432202 + 1 = 1021020n + 432203

0000010210200 20 2003,5,7,11,13,17000000 1000000

432203 = 432203 x 1

oooo 10210200 000000000000

2P 4+ 1 =510510m + 432203
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Q=2161030000
P = 5105100 + 216103

2P 4+ 1 =2(510510n + 216103) + 1 = 10210201 + 432206 + 1 = 1021020n + 432207

0000010210200 20 2003,5,7,11,13,17000000 10000000

432207 =3 x 3 x 48023 x 1

oooo
2P + 1 = 3(340340n + 144069)

gooooooo3soooooooooboooooOobooboobDoobbOODoOoDbboUODboO
goo

Q=2161070000
P =510510n + 216107

2P + 1 =2(510510n + 216107) + 1 = 1021020n + 432214 + 1 = 1021020n + 432215

0000010210200 20 2003,5,7,11,13,17000000 10000000

432215 =5 x 7 x 53 x 233 x 1

oooo
2P + 1 = 35(29172n + 12349)

obooboooosboooobooooobobooobooboobooboboooobOoobOoo
good

Q=12161090000
P =510510n + 216109

2P 4+ 1 =2(510510n + 216109) + 1 = 1021020n + 432218 + 1 = 1021020n + 432219

0000010210200 20 2003,5,7,11,13,17000000 10000000

432219 = 3 x 144073 x 1

oooo
2P + 1 = 3(340340n + 144073)

oooooooob3sooooooboobooooooobooooooobooOobOobDooooobbBbOoOn
ooo

Q=2161130000
P =510510n + 216113

2P + 1 =2(510510n + 216113) + 1 = 10210201 + 432226 + 1 = 1021020n + 432227
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432227 = 432227 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 432227
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Q=2161190000
P =510510n + 216119

2P + 1 = 2(510510n + 216119) + 1 = 10210201 + 432238 + 1 = 10210201 + 432239
0000010210200 20 2003,5,7,11,13,17000000 1000000

432239 = 23 x 18793 x 1

o000 102102000000000000000

2P 4+ 1 =510510m + 432239
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Q=2161270000
P = 510510n + 216127

2P + 1 = 2(510510n + 216127) 4+ 1 = 10210201 + 432254 + 1 = 10210200 + 432255
0000010210200 20 2003,5,7,11,13,17000000 10000000

432255 =3 x 5 x 28817 x 1

oooo
2P + 1 = 15(68068n + 28817)

goooooboOolbhoobooooobOobooooUooooooDobDOooDOobDOobobooboOooo
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Q=2161310000
P =510510n + 216131

2P + 1 =2(510510n + 216131) + 1 = 1021020n + 432262 + 1 = 1021020n + 432263

0000010210200 20 2003,5,7,11,13,17000000 10000000

432263 = 13 x 41 x 811 x 1

oooo
2P + 1 = 13(78540n + 33251)
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Q=2161330000
P =510510n + 216133

2P + 1 = 2(510510n + 216133) + 1 = 10210201 + 432266 + 1 = 10210200 + 432267
0000010210200 20 2003,5,7,11,13,17000000 10000000

432267 =3 x 11 x 13099 x 1

oooo
2P + 1 = 33(30940n + 13099)
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Q=2161370000
P = 510510n + 216137

2P 4+ 1 = 2(510510n + 216137) + 1 = 10210200 + 432274 + 1 = 10210200 + 432275
0000010210200 20 2003,5,7,11,13,17000000 10000000

432275 =5 x5 x 17291 x 1

oooo
2P + 1 = 5(204204n + 86455)

obooboobooosOob0obUbobOOob0Obo0ob0obDOobOobObOobUbDobDOobObOOobOobDOobDoo
goo

Q=2161430000
P =510510n + 216143

2P + 1 = 2(510510n + 216143) + 1 = 10210201 + 432286 + 1 = 10210200 + 432287
0000010210200 20 2003,5,7,11,13,17000000 1000000
432287 = 432287 x 1
0000 10210200000000000000
2P + 1 = 510510m + 432287
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Q=2161490000
P = 5105100 + 216149

2P 4+ 1 =2(510510n + 216149) + 1 = 10210201 + 432298 + 1 = 1021020n + 432299
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432299 =7 x 61757 x 1

oooo
2P + 1 = 7(145860n + 61757)
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Q=2161570000
P = 510510n + 216157

2P + 1 = 2(510510n + 216157) 4+ 1 = 10210201 + 432314 + 1 = 10210200 + 432315
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Q=2183270000
P = 510510n + 218327

2P 4+ 1 =2(510510n + 218327) + 1 = 1021020n + 436654 + 1 = 10210201 + 436655

0000010210200 20 2003,5,7,11,13,17000000 10000000

436655 = 5 x 23 x 3797 x 1

145



oooo
2P + 1 = 5(204204n + 87331)

O000O00O00sS0000000D00000DO0DOO0ODODOODOODOODOODOOODOODODODn
goo

Q=2183290000
P =510510n + 218329

2P + 1 = 2(510510n + 218329) + 1 = 1021020n + 436658 + 1 = 10210201 + 436659
0000010210200 20 2003,5,7,11,13,17000000 10000000

436659 = 3 x 59 x 2467 x 1

oooo
2P + 1 = 3(340340n + 145553)

o00obOobooo30b0obobooooobobOooOoOobOOobOobDobDobooobOobOoobDOoo
goo

Q=12183330000
P = 510510n + 218333

2P + 1 = 2(510510n + 218333) + 1 = 10210201 + 436666 + 1 = 10210201 + 436667
0000010210200 20 2003,5,7,11,13,17000000 10000000

436667 =7 x 11 x b3 x 107 x 1

oooo
2P + 1 = 77(13260n + 5671)

goodoOoogywoOoOoO0ooOUobOOoOOoOooU0ooOU0ooooOOoDOooDOobDOobooooooog
good

Q=2183410000
P =510510n + 218341

2P 4+ 1 =2(510510n + 218341) + 1 = 10210201 + 436682 + 1 = 10210201 + 436683

oo0000o10210200 20 2003,5,7,11,13,17000000 10000000

436683 = 3 x 13 x 11197 x 1

good
2P + 1 =39(26180n + 11197)

goodoOooOo3ooooooob0oboobooUooUoo0obDOobDOoobDOobDOoboooboOooog
googo
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Q=2183470000
P = 5105100 + 218347

2P 4+ 1 =2(510510n + 218347) + 1 = 1021020n + 436694 + 1 = 10210201 + 436695

0000010210200 20 2003,5,7,11,13,17000000 10000000

436695 =3 x 5 x 7 x4159 x 1

oooo
2P 4+ 1 =105(9724n + 4159)

go0oodOoOoOoles0dOobOOdO0oO00oDOO00DOoUODOOUODOOObDO0O0OOOUODOUODOO
goog

Q=2183530000
P = 510510n + 218353

2P 4+ 1 =2(510510n + 218353) + 1 = 1021020n + 436706 + 1 = 1021020n + 436707

0000010210200 20 2003,5,7,11,13,17000000 10000000

436707 = 3 x 3 x 48523 x 1

good
2P + 1 = 3(340340n + 145569)

goobobooo3oboboooooobobOooOoOobo0obUobDobDOobOoobOobOobDOoo
goo

Q=12183570000
P = 510510n + 218357

2P 4+ 1 =2(510510n + 218357) + 1 = 1021020n + 436714 + 1 = 1021020n + 436715

0000010210200 20 2003,5,7,11,13,17000000 10000000

436715 =5 x 19 x 4597 x 1

oooo
2P + 1 = 5(204204n + 87343)

goooooo0ds0U0b0O0bOO0ODbOO0OOU0DOU0UDOUODOUODOUODOODOUODOO
oono

Q=2183590000
P = 510510n + 218359

2P + 1 =2(510510n + 218359) + 1 = 1021020n + 436718 + 1 = 1021020n + 436719
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0000010210200 20 2003,5,7,11,13,17000000 10000000

436719 = 3 x 149 x 977 x 1

good
2P + 1 = 3(340340n + 145573)

ooobobooo3obobobooooobobooDoobobooDoboDobooobUobDOooDOoo
goo

Q=2183630000
P = 510510n + 218363

2P + 1 = 2(510510n + 218363) + 1 = 10210201 4 436726 + 1 = 10210200 + 436727
0000010210200 20 2003,5,7,11,13,17000000 1000000

436727 = 436727 x 1

o000 102102000 000000000000

2P 4+ 1 = 510510m + 436727

gboboobogobooboboobboobbooobuoonobaon

Q=2183690000
P = 510510n + 218369

2P 4+ 1 =2(510510n + 218369) + 1 = 1021020n + 436738 + 1 = 1021020n + 436739
oo0o000gl10210200 20 2003,5,7,11,13,17000000 1000000
436739 = 436739 x 1
o000 10210200 000000000000
2P +1 = 510510m + 436739

ooboobooobooboboobboobboobooobooo

Q=2183710000
P =510510n + 218371

2P + 1 =2(510510n + 218371) + 1 = 1021020n + 436742 + 1 = 1021020n + 436743

0000010210200 20 2003,5,7,11,13,17000000 10000000

436743 = 3 x 3 x 48527 x 1

0ooo
2P + 1 = 3(340340n + 145581)
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go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=2183770000
P = 510510n + 218377

2P + 1 = 2(510510n + 218377) 4+ 1 = 10210201 + 436754 + 1 = 10210201 + 436755
0000010210200 20 2003,5,7,11,13,17000000 10000000

436755 =3 x 5 x 11 x 2647 x 1

oooo
2P +1 = 165(6188n + 2647)

g00obOobOoboles0b0iboOo0O0o000bO0obOobODO0DOO0oO0O0DbOO0ObOO0ODbDODOoDObDOD
good

Q=218381 0000
P = 510510n + 218381

2P 4+ 1 = 2(510510n + 218381) + 1 = 10210201 + 436762 + 1 = 1021020n + 436763
0000010210200 20 2003,5,7,11,13,17000000 1000000

436763 = 109 x 4007 x 1

Ooooo0 10210200 000000000000

2P 4+ 1 =510510m + 436763

gbbooggbogoboobbugobboobbooobuoonbagn

Q=218389 0000
P = 510510n + 218389

2P 4+ 1 =2(510510n + 218389) + 1 = 1021020n + 436778 + 1 = 1021020n + 436779

0000010210200 20 2003,5,7,11,13,17000000 10000000

436779 =3 x3x3xT7Tx2311 x1

oooo
2P + 1 = 21(48620n + 20799)

0000000021 0000000000000O000DODO00DO00ObOObDOoODObOObODbDOn
good

Q=2184010000
P = 510510n + 218401

2P 4+ 1 =2(510510n + 218401) + 1 = 1021020n + 436802 + 1 = 10210201 + 436803

149



0000010210200 20 2003,5,7,11,13,17000000 10000000

436803 = 3 x 145601 x 1

good
2P + 1 = 3(340340n + 145601)

o00obOobO0o0o30b0b0oboooooboboooOobOOobOoboDobDobooobOobDOobDOoo
goo

Q=2184110000
P = 5105100 + 218411

2P + 1 = 2(510510n + 218411) 4+ 1 = 10210201 + 436822 + 1 = 10210201 + 436823
0000010210200 20 2003,5,7,11,13,17000000 1000000

436823 = 103 x 4241 x 1

o000 10210200 0000000000000

2P 4+ 1 = 510510m + 436823

gboboobogobooboboobboobbooobuoonooboon

Q=2184170000
P = 510510n + 218417

2P + 1 = 2(510510n + 218417) 4+ 1 = 10210201 + 436834 + 1 = 10210201 + 436835
0000010210200 20 2003,5,7,11,13,17000000 10000000

436835 =5 x 7 x 7 x 1783 x 1

oooo
2P + 1 = 35(29172n + 12481)

oooOooOoboOos3oobooooobobooooobooooDoobDOooDOobDOobooboooboo
good

Q=2184190000
P =510510n + 218419

2P + 1 =2(510510n + 218419) + 1 = 1021020n + 436838 + 1 = 10210201 + 436839

0000010210200 20 2003,5,7,11,13,17000000 10000000

436839 = 3 x 13 x 23 x 487 x 1

oooo
2P + 1 =39(26180n + 11201)
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oo0oOdoOooOo3ooooooobdboobooU0ooUooooDOobDooDOobDOoboooooog
goog

Q=2184230000
P =510510n + 218423

2P + 1 = 2(510510n + 218423) + 1 = 10210201 + 436846 + 1 = 10210201 + 436847
0000010210200 20 2003,5,7,11,13,17000000 1000000

436847 = 389 x 1123 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 436847

oooboobooobooboboobboobboobooobooo

Q=2184290000
P =510510n + 218429

2P + 1 = 2(510510n + 218429) + 1 = 10210201 + 436858 + 1 = 10210201 + 436859
0000010210200 20 2003,5,7,11,13,17000000 1000000

436859 = 37 x 11807 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 436859

goboobooobooboboobboobbooboooboon

Q=2184310000
P =510510n + 218431

2P + 1 =2(510510n + 218431) + 1 = 10210201 + 436862 + 1 = 10210201 + 436863

0000010210200 20 2003,5,7,11,13,17000000 10000000

436863 =3 x 7 x 71 x 293 x 1

oooo
2P + 1 = 21(48620n + 20803)

obooboooobo2100gobo0oooobobooobo0oo0b0oobooboboooobOoobOoo
good

Q=2184370000
P =510510n + 218437

2P 4+ 1 =2(510510n + 218437) + 1 = 1021020n + 436874 + 1 = 1021020n + 436875
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0000010210200 20 2003,5,7,11,13,17000000 10000000

436875 =3 x b xbxbhx5Hx233x1

oooo
2P + 1 = 15(68068n + 29125)

obooboooolibhoooboboooooboboooboooboobooboboooobOobobOoo
good

Q=2184410000
P = 510510n + 218441

2P + 1 = 2(510510n + 218441) 4+ 1 = 10210201 + 436882 + 1 = 10210201 + 436833
0000010210200 20 2003,5,7,11,13,17000000 10000000

436883 = 17 x 31 x 829 x 1

oooo
2P + 1 = 17(60060n + 25699)

gooooooovooooOooOobOobooOooUOooOUooOooDOobDOoOoDOobDOoboooboOooo
good

Q=2184430000
P =510510n + 218443

2P 4+ 1 =2(510510n + 218443) + 1 = 10210201 + 436886 + 1 = 1021020n + 436887
ooo000o10210200 20 2003,5,7,11,13,17000000 10000000

436887 =3 x3x3x 11 x1471 x 1

oooo
2P + 1 = 33(30940n + 13239)

obooboooo3dboooooooooboboooboobDooboobobooooboOoobOoo
goog

Q=2184470000
P = 510510n + 218447

2P 4+ 1 =2(510510n + 218447) + 1 = 10210201 + 436894 + 1 = 1021020n + 436895

0000010210200 20 2003,5,7,11,13,17000000 10000000

436895 =5 x 59 x 1481 x 1

oooo
2P + 1 = 5(204204n + 87379)
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gbobobooosOobobobooobooboboboobobOobobDobDoboboOobOobOoboOoon
goo

Q=2184530000
P =510510n + 218453

2P + 1 = 2(510510n + 218453) + 1 = 10210201 + 436906 + 1 = 10210201 + 436907
0000010210200 20 2003,5,7,11,13,17000000 1000000

436907 = 67 x 6521 x 1

o000 102102000000000000000

2P +1 = 510510m + 436907

gbooboobooobooboboobboobboooboooboon

Q=2184590000
P = 5105100 + 218459

2P 4+ 1 = 2(510510n + 218459) + 1 = 1021020n + 436918 + 1 = 1021020n + 436919

0000010210200 20 2003,5,7,11,13,17000000 10000000

436919 = 7 x 62417 x 1

oooo
2P + 1 = 7(145860n + 62417)

goooooogvyoUooo0oooUobOoUoOOoU0bOU0UDODOoUDbOoUbObOUODbDOOoDbDbOUODbDOO
goo

Q=218461 0000
P =510510n + 218461

2P 4+ 1 =2(510510n + 218461) + 1 = 10210201 + 436922 + 1 = 10210201 + 436923

0000010210200 20 2003,5,7,11,13,17000000 10000000

436923 =3 x 3 x43 x 1129 x 1

oooo
2P + 1 = 3(340340n + 145641)

O00b0o0O0o03000b0000000b00oDbO0ooOoO0bO0obO0oDOOobDOoO0oobOoDbDOoDOn
goo

Q=2184730000
P = 5105100 + 218473

2P 4+ 1 =2(510510n + 218473) + 1 = 10210201 + 436946 + 1 = 1021020n + 436947
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0000010210200 20 2003,5,7,11,13,17000000 10000000

436947 = 3 x 7 x 20807 x 1

oooo
2P + 1 = 21(48620n + 20807)

oooooooo210000000000000DODOO00DODDOOODODOOOODOOOODDOOO
oooo

Q=2184790000
P =510510n + 218479

2P 4+ 1 = 2(510510n + 218479) + 1 = 10210201 + 436958 + 1 = 1021020n + 436959
0000010210200 20 2003,5,7,11,13,17000000 10000000

436959 = 3 x 3 x 47 x 1033 x 1

oooo
2P + 1 = 3(340340n + 145653)

goobOobooo3oboboboooooboboooOobobUobDobDobooobobobDoo
goo

Q=218483 0000
P = 5105100 + 218483

2P + 1 = 2(510510n + 218483) + 1 = 10210201 + 436966 + 1 = 10210201 + 436967
0000010210200 20 2003,5,7,11,13,17000000 1000000
436967 = 436967 x 1
0000 10210200000000000000
2P + 1 = 510510m + 436967

gbooboobooobooboboobboobbooboooboon

Q=218489 0000
P = 510510n + 218489

2P 4+ 1 =2(510510n + 218489) + 1 = 1021020n + 436978 + 1 = 1021020n + 436979

0000010210200 20 2003,5,7,11,13,17000000 1000000

436979 = 436979 x 1

o000 10210200 000000000000

2P +1 =510510m + 436979
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gboboobogobogoboboobboobooobooooboon

Q=218497 0000
P = 510510n + 218497

2P 4+ 1 =2(510510n + 218497) + 1 = 1021020n + 436994 + 1 = 1021020n + 436995

0000010210200 20 2003,5,7,11,13,17000000 10000000

436995 =3 x3x3x3x5Hx13x83x1

oooo
2P + 1 = 195(5236n + 2241)

goooooooysooooooooooooboooboooboobbo0oooooDooDoo
good

Q=2185030000
P = 510510n + 218503

2P 4+ 1 =2(510510n + 218503) + 1 = 10210201 + 437006 + 1 = 1021020n + 437007

0000010210200 20 2003,5,7,11,13,17000000 10000000

437007 =3 x 31 x 37 x 127 x 1

oooo
2P + 1 = 3(340340n + 145669)

oboobobooo3oboboboooooboboooobobUoboDoboDoboboobOobDoooo
goo

Q=2185070000
P = 510510n + 218507

2P 4+ 1 =2(510510n + 218507) + 1 = 1021020n + 437014 + 1 = 1021020n + 437015

0000010210200 20 2003,5,7,11,13,17000000 10000000

437015 =5 x 87403 x 1

oooo
2P + 1 = 5(204204n + 87403)

oooooooobosooooooboboooooooboooooooDooOobobooooobbOBbOoOn
ooo

Q=218509 0000
P = 5105100 + 218509

2P 4+ 1 =2(510510n + 218509) + 1 = 10210201 + 437018 + 1 = 10210201 + 437019

155



0000010210200 20 2003,5,7,11,13,17000000 10000000

437019 =3 x 11 x 17x 19 x41 x 1

oooo
2P + 1 = 561(1820n + 779)

O00obOO0bOooselob0booboooboobobobooboob0oobobUoboboooOobooo
good

Q=2185130000
P = 510510n + 218513

2P + 1 = 2(510510n + 218513) 4+ 1 = 10210201 4 437026 + 1 = 10210200 + 437027
0000010210200 20 2003,5,7,11,13,17000000 1000000

437027 =101 x 4327 x 1

o000 10210200 0000000000000

2P 4+ 1 = 510510m + 437027

gboboobogobooboboobboobbooobuoonooboon

Q=2185210000
P = 510510n + 218521

2P + 1 = 2(510510n + 218521) 4+ 1 = 10210201 + 437042 4+ 1 = 10210201 + 437043
0000010210200 20 2003,5,7,11,13,17000000 10000000

437043 = 3 x 145681 x 1

oooo
2P + 1 = 3(340340n + 145681)

oooooooo3sboooooooooboooooOoboobooDboobbOODoOOoDbboOoDboO
goo

Q=2185270000
P = 510510n + 218527

2P + 1 =2(510510n + 218527) + 1 = 1021020n + 437054 + 1 = 1021020n + 437055

0000010210200 20 2003,5,7,11,13,17000000 10000000

437055 =3 x 5 x 29137 x 1

oooo
2P + 1 = 15(68068n + 29137)

156



obogoooooioooobooooooboboooboobo0obooboboooobOoobOoo
goog

Q=218531 0000
P =510510n + 218531

2P + 1 =2(510510n + 218531) + 1 = 1021020n + 437062 + 1 = 1021020n + 437063

0000010210200 20 2003,5,7,11,13,17000000 10000000

437063 = 11 x 39733 x 1

oooo
2P + 1 = 11(92820n + 39733)

o0oobO0oobolnoooooob00oobOoOoo0bO0oo0bOOo0oboOobobDoOooDbOoboDbOon
good

Q=12185390000
P = 510510n + 218539

2P + 1 =2(510510n + 218539) + 1 = 1021020n + 437078 + 1 = 1021020n + 437079

0000010210200 20 2003,5,7,11,13,17000000 10000000

437079 = 3 x 89 x 1637 x 1

oooo
2P + 1 = 3(340340n + 145693)

gooooooOo3oUoboooooooboU0oOoU0bOoUbDOoUobDOoUobDbOUDbDOoOobDboUDoO
ooo

Q=218549 0000
P = 510510n + 218549

2P + 1 = 2(510510n + 218549) + 1 = 10210201 + 437098 + 1 = 10210201 + 437099
0000010210200 20 2003,5,7,11,13,17000000 10000000

437099 = 13 x 33623 x 1

oooo
2P + 1 = 13(78540n + 33623)

oboobooobooooooooooboboooboooboobooboboooobOoobOoo
good

Q=218551 0000
P = 510510n + 218551
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2P 4+ 1 =2(510510n + 218551) + 1 = 1021020n + 437102 + 1 = 10210201 + 437103

0000010210200 20 2003,5,7,11,13,17000000 10000000

437103 =3 x 3 x 3 x 16189 x 1

oooo
2P + 1 = 3(340340n + 145701)

goooo0ooOo300boo0ooU0ooUooU0bDOoUDOoUDOoUbObOUDOOobDbOUDOO
goo

Q=2185570000
P = 510510n + 218557

2P + 1 = 2(510510n + 218557) + 1 = 10210201 + 437114 + 1 = 10210200 + 437115
0000010210200 20 2003,5,7,11,13,17000000 10000000

437115 =3 x5 x 7x23 x 181 x 1

oooo
2P 4+ 1 =105(9724n + 4163)

go0obOobOooDls0b0ob0o0o0ooobobooooOob00oobOOobUobOoDOooDOobDon
good

Q=12185630000
P = 510510n + 218563

2P + 1 = 2(510510n + 218563) 4+ 1 = 10210201 4 437126 + 1 = 10210200 + 437127
0000010210200 20 2003,5,7,11,13,17000000 10000000

437127 = 3 x 145709 x 1

oooo
2P + 1 = 3(340340n + 145709)

gooooooOo3oUoboooooobooU0oOoU0bOoUbDOoUobDOoUobDbOUDbDOoUobDbOUODoOO
ooo

Q=2185670000
P = 510510n + 218567

2P 4+ 1 =2(510510n + 218567) + 1 = 1021020n + 437134 + 1 = 1021020n + 437135

0000010210200 20 2003,5,7,11,13,17000000 10000000

437135 =5 x 87427 x 1
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oooo
2P + 1 = 5(204204n + 87427)

oboobobooosUOb0obUobOUobobo0obU0obDOobOUobObUOobUObDOobDOobObOobOobDOooOoo
goo

Q=2185730000
P = 510510n + 218573

2P 4+ 1 = 2(510510n + 218573) + 1 = 10210200 + 437146 + 1 = 10210200 + 437147
0000010210200 20 2003,5,7,11,13,17000000 1000000

437147 =47 x 71 x 131 x 1

o000 10210200 000000000000

2P +1 = 510510m + 437147

goooooboobooboooobooboobooooboobboOoOoooooDon

Q=218579 0000
P = 510510n + 218579

2P + 1 = 2(510510n + 218579) 4+ 1 = 10210201 + 437158 + 1 = 10210201 + 437159
0000010210200 20 2003,5,7,11,13,17000000 1000000

437159 = 437159 x 1
oooo 10210200 000000000000
2P 4+ 1 =510510m + 437159

goboobooobooboboobboobbooboooboon

Q=2185870000
P = 510510n + 218587

2P 4+ 1 =2(510510n + 218587) + 1 = 1021020n + 437174 + 1 = 1021020n + 437175

0000010210200 20 2003,5,7,11,13,17000000 10000000

437175 =3 x 3 x5 x5 x29x 67 x1

oooo
2P 4 1 = 15(68068n + 29145)

gobooooooibooobobooooobobooobooboobooboboooobOoobOoo
good
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Q=2185910000
P = 510510n + 218591

2P + 1 = 2(510510n + 218591) 4+ 1 = 10210201 + 437182 + 1 = 10210201 + 437183
0000010210200 20 2003,5,7,11,13,17000000 1000000

437183 = 41 x 10663 x 1

o000 10210200 0000000000000

2P 4+ 1 =510510m + 437183

gbooboobogobooboboobboobooobuooooboon

Q=2185930000
P = 5105100 + 218593

2P + 1 =2(510510n + 218593) + 1 = 1021020n + 437186 + 1 = 1021020n + 437187

0000010210200 20 2003,5,7,11,13,17000000 10000000

437187 =3 x 61 x 2389 x 1

oooo
2P + 1 = 3(340340n + 145729)

gooooooo3soooooooooboooooboobooDbOoobboObDoobboUOoDboO
goo

Q=2185970000
P = 510510n + 218597

2P 4+ 1 =2(510510n + 218597) + 1 = 1021020n + 437194 + 1 = 1021020n + 437195

0000010210200 20 2003,5,7,11,13,17000000 10000000

437195 =5 x 11 x 7949 x 1

oooOo
2P + 1 = 55(18564n + 7949)

oboooooosbobooobooooobobooobooboobooboboooobOoobOoo
good

Q=218599 0000
P = 510510 + 218599

2P 4+ 1 =2(510510n + 218599) + 1 = 1021020n + 437198 + 1 = 1021020n + 437199
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0000010210200 20 2003,5,7,11,13,17000000 10000000

437199 =3 x 7 x 109 x 191 x 1

oooo
2P + 1 = 21(48620n + 20819)

o00o0obO0oobo210000b00000obOb00oo0b00oo0bO0o0obo0obooDoooboOoobOoo
good

Q=1218609 0000
P = 510510n + 218609

2P + 1 = 2(510510n + 218609) + 1 = 10210201 + 437218 4+ 1 = 10210201 + 437219
0000010210200 20 2003,5,7,11,13,17000000 1000000

437219 = 437219 x 1

o000 10210200 0000000000000

2P 4+ 1 =510510m + 437219

gboboobogobooboboobboobbooobuoonooboon

Q=2186110000
P = 510510n + 218611

2P + 1 = 2(510510n + 218611) 4+ 1 = 10210201 + 437222 + 1 = 10210201 + 437223
0000010210200 20 2003,5,7,11,13,17000000 10000000

437223 =3 x 17 x 8573 x 1

oooo
2P 4+ 1 =51(20020n + 8573)

oooOooOooOos1boboboOoboob0obobooobooooDobDOooDOobDOoboobOooboO
good

Q=2186230000
P = 510510n + 218623

2P + 1 =2(510510n + 218623) + 1 = 10210201 + 437246 + 1 = 1021020n + 437247

0000010210200 20 2003,5,7,11,13,17000000 10000000

437247 =3 x 3 x 19 x 2557 x 1
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Q=2186270000
P =510510n + 218627

2P + 1 = 2(510510n + 218627) 4+ 1 = 10210201 + 437254 + 1 = 10210200 + 437255
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2P + 1 = 2(510510n + 218633) + 1 = 10210201 + 437266 + 1 = 10210200 + 437267
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437267 = 43 x 10169 x 1
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P = 510510n + 218641

2P + 1 = 2(510510n + 218641) 4+ 1 = 10210201 + 437282 + 1 = 10210201 + 437283
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oooo
2P + 1 = 231(4420n + 1893)
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P = 510510n + 218653
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Q=2186570000
P = 5105100 + 218657

2P 4+ 1 =2(510510n + 218657) + 1 = 1021020n + 437314 + 1 = 1021020n + 437315
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oooo
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P = 510510n + 218663

2P 4+ 1 =2(510510n + 218663) + 1 = 10210201 + 437326 + 1 = 1021020n + 437327
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437327 =11 x 83 x 479 x 1
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Q=2186770000
P = 510510n + 218677

2P + 1 = 2(510510n + 218677) + 1 = 10210201 + 437354 + 1 = 10210200 + 437355
0000010210200 20 2003,5,7,11,13,17000000 10000000
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obooboooolbooobooobooobobooobooobOooboobUobooooboOooboo
good

Q=1218681 0000
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P = 5105100 + 218683

2P + 1 = 2(510510n + 218683) + 1 = 10210201 + 437366 + 1 = 10210200 + 437367
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2P + 1 = 2(510510n + 218689) + 1 = 10210201 + 437378 4+ 1 = 10210201 + 437379
0000010210200 20 2003,5,7,11,13,17000000 10000000

437379 =3 x 31 x 4703 x 1

oooo
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0000010210200 20 2003,5,7,11,13,17000000 10000000
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P = 510510n + 218741

2P + 1 = 2(510510n + 218741) 4+ 1 = 10210201 + 437482 + 1 = 10210201 + 437483
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Q=2187470000
P = 510510n + 218747

2P + 1 = 2(510510n + 218747) 4+ 1 = 10210201 + 437494 + 1 = 10210200 + 437495
0000010210200 20 2003,5,7,11,13,17000000 10000000

437495 =5 x 17 x 5147 x 1
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2P 4+ 1 =85(12012n + 5147)

oooOooOooOosooooooobobooooooooooobooDoDobDobooooboooboo
good

Q=2187490000
P = 510510n + 218749

2P + 1 =2(510510n + 218749) + 1 = 1021020n + 437498 + 1 = 10210200 + 437499
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2P + 1 = 3(340340n + 145833)
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Q=2187530000
P = 510510n + 218753

2P + 1 = 2(510510n + 218753) 4+ 1 = 10210201 4 437506 + 1 = 10210200 + 437507
0000010210200 20 2003,5,7,11,13,17000000 10000000

437507 =7 x 62501 x 1
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Q=12187830000
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2P + 1 = 2(510510n + 218783) + 1 = 10210201 + 437566 + 1 = 10210200 + 437567
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2P + 1 = 13(78540n + 33659)
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P = 510510n + 218789

2P + 1 = 2(510510n + 218789) + 1 = 10210201 + 437578 + 1 = 10210201 + 437579
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437579 = 467 x 937 x 1
Ooooo 10210200 0000000000000
2P +1 = 510510m + 437579

gooboobooobooboboobboobboobuooobooo
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P =510510n + 218791

2P + 1 =2(510510n + 218791) + 1 = 1021020n + 437582 + 1 = 1021020n + 437583
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437583 = 3 x 145861 x 1
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2P + 1 = 3(340340n + 145861)
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Q=218797 0000
P = 510510n + 218797

2P + 1 = 2(510510n + 218797) + 1 = 10210201 + 437594 + 1 = 10210200 + 437595
0000010210200 20 2003,5,7,11,13,17000000 10000000
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2P 4+ 1 = 2(510510n + 218809) + 1 = 10210201 + 437618 + 1 = 1021020n + 437619
0000010210200 20 2003,5,7,11,13,17000000 10000000
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P =510510n + 218819

2P + 1 = 2(510510n + 218819) 4 1 = 10210201 + 437638 + 1 = 10210201 + 437639
0000010210200 20 2003,5,7,11,13,17000000 1000000
437639 = 29 x 15091 x 1
0000 10210200000000000000
2P + 1 = 510510m + 437639
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Q=2188310000
P = 510510n + 218831

2P + 1 = 2(510510n + 218831) 4 1 = 10210201 + 437662 + 1 = 10210201 + 437663
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2P 4+ 1 =510510m + 437663
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Q=2188330000
P = 5105100 + 218833

2P + 1 = 2(510510n + 218833) + 1 = 10210201 + 437666 + 1 = 10210200 + 437667
0000010210200 20 2003,5,7,11,13,17000000 10000000
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P = 510510n + 218837

2P + 1 =2(510510n + 218837) + 1 = 1021020n + 437674 + 1 = 1021020n + 437675
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0000010210200 20 2003,5,7,11,13,17000000 10000000
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Q=2188430000
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2P 4+ 1 = 2(510510n + 218843) + 1 = 10210200 + 437686 + 1 = 10210200 + 437687
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2P 4+ 1 =510510m + 437687
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O000o0O0o0ooO1Tooob0O0o0o0O00obOO0oOoO0O0oO0DbOO0o0DbDO0o0obOobDUoOobDbOOobODbOon
good
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Q=2188570000
P = 5105100 + 218857

2P + 1 = 2(510510n + 218857) + 1 = 10210201 + 437714 + 1 = 10210200 + 437715
0000010210200 20 2003,5,7,11,13,17000000 10000000
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oooo
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P =510510n + 218861

2P + 1 =2(510510n + 218861) + 1 = 1021020n + 437722 + 1 = 1021020n + 437723
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oooo
2P + 1 = 143(7140n + 3061)
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2P 4+ 1 =2(510510n + 218863) + 1 = 1021020n + 437726 + 1 = 1021020n + 437727
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Q=2188730000
P = 510510n + 218873

2P + 1 = 2(510510n + 218873) + 1 = 10210201 + 437746 + 1 = 10210200 + 437747
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gbooboobooobooboboobboobboooboooboon
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P = 510510n + 218879

2P 4+ 1 =2(510510n + 218879) + 1 = 1021020n + 437758 + 1 = 1021020n + 437759
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2P + 1 = 2(510510n + 218893) + 1 = 10210201 + 437786 + 1 = 10210200 + 437787
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2P + 1 =2(510510n + 218921) + 1 = 1021020n + 437842 + 1 = 1021020n + 437843
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2P + 1 = 2(510510n + 221087) + 1 = 10210201 + 442174 + 1 = 10210200 + 442175
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Q=2211130000
P =510510n + 221113

2P 4+ 1 = 2(510510n + 221113) + 1 = 10210200 + 442226 + 1 = 10210200 + 442227
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442227 = 3 x 147409 x 1
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Q=2211290000
P =510510n + 221129
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442263 = 3 x 19 x 7759 x 1

oooo
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P =510510n + 221141
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P = 5105100 + 221147

2P 4+ 1 =2(510510n + 221147) + 1 = 1021020n + 442294 + 1 = 1021020n + 442295
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Q=2211490000
P =510510n + 221149

2P + 1 =2(510510n + 221149) + 1 = 1021020n + 442298 + 1 = 10210201 + 442299

0000010210200 20 2003,5,7,11,13,17000000 10000000
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2P + 1 = 429(2380n + 1031)
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P = 510510 + 221159
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Q=2211610000
P = 510510n + 221161
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P = 510510n + 221167

2P + 1 = 2(510510n + 221167) 4+ 1 = 10210201 + 442334 + 1 = 10210200 + 442335
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Q=2211710000
P =510510n + 221171
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0000010210200 20 2003,5,7,11,13,17000000 1000000

442367 = 442367 x 1

Ooooo0 10210200 000000000000

2P 4+ 1 =510510m + 442367

gbbooggbogoboobbugobboobbooobuoonbagn

Q=2211890000
P =510510n + 221189
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P = 510510n + 221197
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2P + 1 = 21(48620n + 21067)
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